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Question No : 1

Which command allows the administrator to leave services currently under Veritas Cluster
Server control in a running state while performing configuration changes?

A. hastop -all -force
B. hastop -all -evacuate
C. haconf -all -force
D. haconf -all -evacuate

Answer: A

Question No : 2

What is a function of the Enforce Server?

A. provides a GUI for policy creation

B. detects incidents

C. writes incidents to all detection servers
D. deploys agents to endpoint computers

Answer: A

Question No : 3

When resolving or dismissing incidents, Symantec recommends that an incident responder
completes which action?

A. Add comments
B. Delete incidents
C. Set severity

D. Export incidents

Answer: A

Question No : 4
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What is a benefit of the Symantec Data Loss Prevention 9.0 security architecture?

A. Communication is initiated by the detection servers inside the firewall.

B. Mutual authentication between servers is based on the Challenge Handshake
Authentication Protocol (CHAP).

C. Endpoint Agent to Endpoint Server communication uses the Triple Data Encryption
Standard (3DES).

D. Encryption is provided for confidential information across system components.

Answer: D

Question No : 5

Which three functions of the communications architecture ensure that the system is able to
automatically recover should a network connectivity failure occur between the detection
servers and the Enforce Server? (Select three.)

A. Database backup

B. Autonomous monitoring
C. Automatic synchronizing
D. Incident queuing

E. Alert archiving

Answer: B,C,D

Question No : 6

An administrator needs to manually add a new resource type to a running cluster.

What should the administrator do after installing the agent software on each Veritas Cluster
Server (VCS) node?

A. Generate the appropriate hatype commands with hacf -addtype

B. Use the hatype command to add the new resource type

C. Stop and restart VCS so that the new resource type is recognized as valid
D. Use the hares command to add the new resource type to the cluster

Answer: B
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Question No : 7

An administrator is configuring a websg service group and a dbsg service group. The
administrator needs to configure Veritas Cluster Server so websg will only come online if
dbsg is online somewhere in the cluster.

If dbsg faults, websg should stay online. If dbsg is unable to fail over, the websg should
stay online.

Which type of service group dependency does this require?

A. Online global soft
B. Online global firm
C. Online local soft
D. Online local firm

Answer: A

Question No : 8

Which characteristic of Veritas Cluster Server attributes allows the public interface to be
different for each of the systems in the cluster?

A. Global
B. Local
C. Custom
D. Proxy

Answer: B

Question No : 9

Only the TriggerPath service group attribute value for the websg service group is set to
"bin/websg" for cluster nodes where the websg service group can be online.

Where will Veritas Cluster Server (VCS) look for the preonline event trigger if the preonline
event trigger is also enabled on all cluster systems for the websg service group?
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A. $VCS_HOME/preonline/triggers/bin/websg
B. $VCS_HOME/bin/websg/preonline
C. $VCS_HOME/bin/websg/internal_triggers
D. $VCS_HOME/preonline/bin/websg

Answer: B

Question No : 10

What is an advantage of using a Dashboard report?

A. Incident reponders can execute Smart Responses from them.
B. They allow incidents to be viewed across multiple products.
C. They can be used as work queues for incident responders.

D. Incident responders can see the history of each incident.

Answer: B

Question No : 11

An administrator adds a new user within a cluster that is running in a non-secure mode.

In which file will the user name be stored?

A. letc/VRTSvcs/conf/config/secure.cf
B. /etc/VRTSvcs/conf/config/main.cf
C. letc/VRTSvcs/conf/config/types.cf
D. /opt/VRTSvcs/conf/config/users.cf

Answer: B

Question No : 12

Given a service group with all resources online, what should be done to prevent the top
resource in a dependency tree from causing a failover when it is taken offline outside the
cluster?
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A. Freeze the resource

B. Disable the dependency links for the resource
C. Set the Critical attribute for the resource to 0
D. Freeze the node

Answer: C

Question No : 13

Where are the installation log files created when Veritas Cluster Server is installed?

A. /opt/VRTS/install/logs/
B. /var/VRTS/install/logs/
C. /opt/VRTSvcs/install/logs/
D. lvar/VRTSvcsl/install/logs/

Answer: A

Question No : 14

Which feature is a key benefit of onscreen notification?

A. It informs endpoint users when an Endpoint Discover scan identifies confidential files on
their computers.

B. It informs endpoint users when they try to copy or transmit confidential data from the
endpoint.

C. It informs endpoint users that the DLP agent has just been installed on their computers.
D. It informs the system administrator when specified system events have occurred within
the system.

Answer: B

Question No : 15

What are two reasons to implement SCSI-3 1/O fencing? (Select two.)

A. Disk-based heartbeat
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B. Data protection

C. Lock disk

D. Cluster communication
E. Membership arbitration

Answer: B,E

Question No : 16

Refer to the exhibit.

s

sym1 sym2 sym3

FencingWeight= 400 FencingWeight= 200 FencingWeight = 300

An administrator has configured preferred fencing. Cluster communication breaks and
separates sym1l from the other cluster nodes.

Which node(s) will survive the fencing race?

A. syml only
B. sym2 only
C. sym3 only
D. both sym2 and sym3

Answer: D

Question No : 17

What does a data loss prevention solution help an organization identify? (Select three.)

A. Employee education opportunities
B. Risk of virus infection

https://certkill.com 7


http://certkill.com
http://certkill.com

CERTKILL

Veritas VCS-253 : Practice Test
C. Unprotected content on laptops
D. lllegally obtained software on desktops
E. Encryption enforcement opportunities

Answer: A,C,E

Question No : 18

Which two products are required for quarantining confidential files residing inappropriately
on a public file share? (Select two.)

A. Network Discover
B. Endpoint Discover
C. Network Monitor
D. Network Prevent
E. Network Protect

Answer: AE

Question No : 19

Which two standard Veritas Cluster Server resource types can determine if an application
has unexpectedly exited? (Select two.)

A. Process
B. FileOnOff
C. Proxy

D. Application
E. Phantom

Answer: A,D

Question No : 20

Which component of Microsoft Outlook Personal Folder (.pst) files does Network Discover
apply filters to?
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A. Individual emails in the .pst file
B. The entire .pst file
C. Attachments in the .pst file
D. Folders in the .pst file

Answer: B

Question No : 21

Which agent entry point is used when running a virtual fire drill for a specific resource?

A. Info

B. Online
C. Monitor
D. Action

Answer: D

Question No : 22

What information must be specified when adding a resource to a service group?

A. Cluster identifier

B. System name

C. Attribute values

D. Service group name

Answer: D

Question No : 23

What should be considered before enabling the Preventing Concurrency Violation
(ProPCV) attribute in a service group?

A. The MonitorProgram attribute must be configured for the Application resource type.
B. The MonitorProcesses attribute must be configured for the Application resource type.
C. The Mode value for the IMF attribute of the Application type resource is set to 1.
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D. The ProPCV attribute is prevented from being changed when the service group is active.

Answer: B

Question No : 24

What occurs when the hastop -local -force command is issued on the active node in a two-
node active/passive cluster?

A. The services will be shut down on the active node and brought up on the passive node.
B. The services will continue to run on the active node while HAD is stopped.

C. The service group behavior will follow the value of the EngineShutdown attribute while
HAD is stopped.

D. The online service groups on the primary node are taken offline and remain offline until
started manually.

Answer: B

Question No : 25

On which system can you set UseMpathd=1 in a MultiNICB resource?

A. Solaris
B. Linux
C. AIX

D. HP-UX

Answer: D

Question No : 26

How many levels deep can a service group dependency tree be?

OO w>
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